GENERAL NOTES:

_.I

2-

THE LABEL MAY BE EMBOSSED OR
LINEAL FEET ON EACH PANEL
PRODUCT APPROVAL AND

3-

(FLORIDA BUILDING CODE 2010 - non HVHZ)

DEFINITION: THIS PRODUCT IS A HURRICANE PROTECTION
CONSTRUCTED AND ERECTED TO EASILY ENCLOSE AN AREA,
HURRICANE FORCE WINDS AND WIND BORNE DEBRIS WITHIN
PRESSURES AND LIMITATIONS STATED IN THIS APPROVAL

DEVICE; DESIGNED,
PROVIDING PROTECTION FROM
THE ALLOWABLE DESIGNED

POSTING: A PERMANENT LABEL SHALL BE PROVIDED AS PER FBC 2010 SECTION 1713 8
PRINTED SPACED NOT MORE THAN EVERY THREE (3
THE LABEL SHALL BE APPLIED BY THE HOLDER OF THE
SHALL FACE THE EXTERIOR OR OUTSIDE.

MATERIAL

3.1 - STORM PANELS SHALL BE MIN. 0. 073"POLYCARBONATE CONFORMING TO

ASTM D-638 WITH A MINIMUM Fy= 9. 36 Ksi.

3.2 - ALL ALUMINUM EXTRUSIONS SHALL BE 6063-T6 OR AS NOTED.
FASTENERS: ASSEMBLY SCREWS AND ANCHORS SHALL BE AS SPECIFIED

SET OF DRAWINGS. INSTALLATION AND LOADS AS PER THIS APPROVAL.

IN THE CURRENT

LOADS: DESIGNED LOAD CALCULATED BASED ON THE ASCE 7-10 AND PROVIDED BY A
PROFESSIONAL ARCHITECT OR ENGINEER FOR EACH SPECIFIC PROJECT. THE CALCULATED
DESIGNED PRESSURE MUST NOT EXCEED THE ALLOWABLE PRESSURES FOR EACH SHUTTER
COMPONENT TO BE USED. THE DESIGN PRESSURES ARE PERMITTED TO BE MULTIPLED BY
06

USE: IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR, ARCHITECT OR ENGINEER
OF RECORD TO VERIFY THE FOLLOWING:

6. 1- THE STABILITY OF THE STRUCTURE WHERE THE PRODUCT IS TO BE ATTACHED
INSURING PROPER ANCHORAGE

6. 2- THE SITE SPECIFIC PROJECT CRITERIA, SUCH AS BUT NOT LIMITED TO,
LOCAL CODE REQUIREMENTS, DESIGNED PRESSURES ETC

6. 3- THAT THIS APPROVAL IS ADEQUATE TO THE SPECIFIC PROJECT.
PANELS CAN BE OVERLAPPED TO CREATE A 1/2 PANEL INSTALLATION
LIMITATIONS: PRODUCT IS NOT APPLICABLE

8 1 IN HIGH VELOCITY HURRICANE ZONES (HVHZ>, BROWARD & MIAMI-DADE COUNTIES
AS DEFINED IN THE FLORIDA BUILDING CODE

8 2 WITHOUT 12-1/8" GLASS SEPARATION IN ESSENTIAL FACILITIES AS DEFINED
IN ASCE 7-10

8 3 WITHOUT 12-1/8" GLASS SEPARATIOON IN WIND ZONE 4 WHERE THE SPECIFYING
AUTHORITY HAS SPECIFIED DOPTIONAL ADDITIONAL PASS/FAIL CRITERIA IN ACCORDANCE
WITH ASTM E1996-09 SECTION 7. 2. WIND ZONE 4 AS DEFINED IN ASTM E 1996 WITH
MODIFICATION BY THE FBC SECTION 1609. 1.2 4 (LOCATIONS WITH BASIC WIND SPEED
GREATER THAN 160 MPH)

8. 4 WITHOUT 8-3/8" GLASS SEPARATION FOR PANELS SMALLER THAN 14-.
IN “NON HVHZ® PRODUCT MEETS THE CLASSIFICATION OF ASTM E1996 FOR “NON
POROUS" PROTECTIVE DEVICE. THEREFORE SEPARATION FROM GLAZING AREAS ARE NOT

REQUIRED WITH EXCEPTIONS AS PER 8.2, 8.3 AND 8 4 ABOVE

USER INSTRUCT ION:

1. OBTAIN PROJECT WIND LOAD PRESSURES AS PER GENERAL NOTES 5

2. COMPARE PANEL HEIGHT X ALLOWABLE PRESSURE (TABLE 1> WITH PROJECT WIND
LOAD PRESSURES. PROJECT PRESSURE MUST BE EQUAL OR LESS THAN PANEL
ALLOWABLE PRESSURE.

3. SELECT ANCHOR SPACING (TABLE 3> FUNCTION OF TYPE OF MOUNT,
TYPE OF ANCHOR < TABLE 2>

4, SELECT TYPE OF SIDE CLOSURE AS PER SHEET 6 of 8.

PRESSURE AND

TYPICAL ELEVATIONS

PANELS CAN BE INSTALLED VERTICALLY OR
HORIZONTALLY USING APPLICABLE ANCHORING DETAILS

i n x 14° N
1 nx 2e° l
— n x 30° ==
n x 38" ————PANEL SIZE————f
n x 46" 7289,
1.€.3. 10,11
4,5,6 =
- - .| . g muw\
4,56 E
=
= E ARVESRS
2 e 2 = X X X X
7,8.9
1 e gy o = =
10,11 10,11 3 5 —
<<
a
1589, *
L. . ! . i 10,11
23,
4,5,6 HORIZONTAL INSTALLATION
VERTICAL INSTALLATION
120" MAXIMUM PANEL SIZE

n: NUMBER OF PANEL
PANELS AVAILABLE WIDTH

n x 46"

167, 247, 32%, 40" AND 48"
TABLE 1
ALLOWABLE DESIGNED
PRESSURES:
+
CODE AND STANDARD COMPLIANCE: mnw_mmr%mm ﬂwm
FLORIDA BUILDING CODE 2010 (non HVHZ) ( )
ASTM E330, E1886, E1996 (LEVEL D MISSILE
( ) 120 45
100 62
80 87
60 132
TABLE OF CONTENTS
SHEET DESCRIPTIDON
1 GENERAL NOTES, TYPICAL ELEVATIONS & DESIGN PRESSURES ¢ TABLE 1
2 PANEL DETAILS AND LAY-0OUTS
3 MOUNT TYPES 1, 2 & 3 DETAILS
4 MOUNT TYPES 4, 5, S5A & 6 DETAILS
S MOUNT TYPES SE1 AND SE2 DETAILS - ESCAPE PANELS
5 SIDE CLOSURES 7, 8, 9, 10, 11 DETAILS
7 ANCHOR SCHEDULE TABLE 2 AND ANCHOR SELECTION TABLE 3
8 COMPONENTS DETAILS

Fsrrrrys

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP - CITY, OHI0 45371
Phone: (937) 877-1310
Website: www.clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

fugUo Inur.
CA 8116

5595 Orange Dr. 201

Davie, Fl. 33314

Tel.: (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

Ferrennes®’ &
”’H’”‘t“"?'ﬂ"‘

REVISIONS:

- FBC 2010 UPDATE

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET
10f8




48" PANEL LAY OUT

MULTIPLES 48" PANELS

FW= 46" x n + 2

+16° (TOTAL MINIMUM WIDTHD
14* (EFECTIVE WIDTH)
7.000 7.000
o
1)
)
I T - \*’ + T I T T
. DB0 Fomincl €007 - 0. 0803
L b g OF
Lo L) & - s
L §
n
q
] 1.00 7.000 7.000
=4
|-— 14.000 |
- TYPICAL POLYCARBONATE HURRICANE SHUTTER PANEL
2" D/\mm_lb_u
m’sz o MAX. 7°

2* OVERLAP
|

8" AC
DOUBLE ANCHOR

16" PANEL LAY OUT

MULTIPLES 16" PANELS
FwW= 14°

xn + 2

24" PANEL LAY OUT

MULTIPLES 24" PANELS
FwWw= 22" x n + 2

22

i Wi e U
Wi esra s

NN

46 1
1 46
— hm bl Nl Nl Nl Nl N \u
e e e I )
| e e e
e oy e 0 AT U 2 R Wl Bl B (o 0 T e (S
16" OC 16* OC 16" OC
DOUBLE 30 DOUBLE 30 DOUBLE
ANCHOR ANCHOR ANCHOR
40" PANEL LAY OUT
MULTIPLES 40" PANELS
FwW= 38" x n + 2
38 i
1 38
I_ 38 | 2N NV NN |
Y S o i
i 7 S O Y U
|._A
h
8* OC 8" OC 8" 0C —
Tu_“_cm_.ml_ _lun_cm_.m|._ _|_H_c_w_.m
ANCHOR ANCHOR ANCHOR
32" PANEL LAY OUT
MULTIPLES 32° PANELS
Fw= 30" x n + 2 i
30 .
1 30
I‘ 30 o S Al
e A NE
PN
T WAl [ Ty A e e i T 7 ]
e e e
30 OC 30° OC
DOUBLE DOUBLE
ANCHOR ANCHOR

—

DENOCEIRCCC

8" OC g8* OC 8" OC
DOUBLE DOUBLE DOUBLE
ANCHOR ANCHOR ANCHOR

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP CITY, OHIO 45371
Phone: (937) 877-1310
Website: www.clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

tngUo Inr.
CA 8116

5595 Orange Dr. 201

Davie, Fl. 33314

Tel.: (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

N
3
2 . \)
- )
sﬂ&o% ..
s, mm i
\\\\\\\\\\\ o
REVISIONS:
1- FBC 2010 UPDATE

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET
2 of 8




MANUFACTURER:
MOUNT TYPE 1 MOUNT TYPE 3 CLEAR STRENGTH
EXISTING SEE TABLE 3 \/\ WA LLC
STRUCTURE MOUNT TYPE 1 \/ o
FOR ANCHOR SELECTION
AND SPACING TIPP CITY, OHIO 45371
| Phone: (937) 877-1310
st | = Website: www.clearstrengthpanels.com
WBUQQ.L = NOTE: MOUNT AVAILABLE ONLY FOR E-mail: clearstrengthpanels@gmail.com
\ = HEADER INSTALLATIONS EXISTING i
TRy STRUCTURE
g %mm&zm/ PRODUCT:
el o BOLTS W/ WINGNUTS :
s qf B : —see paneL Lav-out  |Polycarbonate
e 7 “X : ON SHEET 2 OF 8 :
SELECT PROPER ‘ N Hurricane Shutter
EMBEDMENT AND = ! o |
EDGE DISTANCE : . ane
& —1 LARGE & SMALL MISSILE
& W IMPACT RATED
O = ™ __%_ga
wm = N R N ;
WALL REE o EMBED. = - 3 Engineering:
PRESSINGT o e s ‘ / .pmﬁm@c. Inr.
N SEE TABLE 3 TR
ANCHORS B, Bl, F OR F1 MOUNT TYPE 3 §585 Orangs Dr. 201
SEE PANEL LAY-OUT SEE TABLE 2 TO FOR ANCHOR SELECTION Davie, Fl. 33314
ON SHEET 2 OF 8 SELECT PROPER AND SPACING Tol.: (954) 585-0304
EMBEDMENT AND G
\/\ \/\ ENGCO@AOL.COM
NOTE: MOUNT AVAILABLE FOR SILL, HEADER
AND JAMBS INSTALLATIONS w
MOUNT TYPE 2 EXTSTING ..... XY
WALL STRUCTURE Oy
DRESSING N
COORDINATE WITH TABLE 3 it wmmuwmm%wmuymzwmwmmﬁ §a
EXISTING MOUNT TYPE 2 AND PANEL LAY-OUT DRES EXISTING T g i
SELECTION AND SPACING e
SEE TABLE 3 £ )
X MOUNT TYPE 3 =0,
| FOR ANCHOR SELECTION Y
* AND SPACING “
Embed -
[ o]
@ Tlmzmmu.lr Y m e —) . RE VISIONS:
- ) N BOLTS W/ WINGNUTS 1- FBC 2010 UPDATE
i * N | SEE PANEL LAY-0OUT
85 1 = : ! ON SHEET 2 OF 8
| om 5 4 _ 'a
‘ : Sezey i 10
“ ; _ \ ‘ ~ N1 Date: 01/14/2012
Scale: NA
K WALL ;
MOUNT TYPE 2
SEE TABLE 2 TO FOR ANCHOR SELECTION :
SELECT PROPER AND SPACING Drawing Number
EMBEDMENT AND ’
EDGE DISTANCE 12-005
/\/ /\/ SHEET
/\/ NOTE: MOUNT AVAILABLE FOR SILL, HEADER /\/ N\ 3 of 8
AND JAMBS INSTALLATIONS




MOUNT TYPE 4

MANUFACTURER:
4 MOUNTTYPEG CLEAR STRENGTH
USA, LLC
EXISTING WALL i
STRUCTURE DRESSING 1414 COMMERCE PARK DR.
BOLTS W/ WINGNUTS TIPP CITY, OHIO 45371
\/\ \/\ MAX. 3* SEE PANEL LAY-OUT Phone: (937) 877-1310
I ON SHEET 2 OF 8 Website: www.clearstrengthpanels.com
/ / q * \MMW%WD_“M\ L i_nﬂz_,xmm/_ﬂr__r“‘.ﬁm E-mail: clearstrengthpanels@gmail.com
% Embed.— ON SHEET 2 OF 8
o
R « e
—F i Polycarbonate
SEE TABLE 2 TO My £ = oly
IIIIJII' .
SELECT PROPER i I LT f SEE TABLE 3 Hurricane Shutter
EMBEDMENT AND & 1 {__MOUNT TYPE 6 P _
EDGE DISTANCE T P FOR ANCHOR SELECTION ane
AND SPACING LARGE & SMALL MISSILE
\ i IMPACT RATED
SEE TABLE 3 MOUNT TYPE 4
FOR DZOIDMZW_.H_WWMMWMM N l// SEE TABLE 2 TO m:@m:mmz:@.. s
T~ SELECT PROPER ._mwﬁ@@@ iInr.
EMBEDMENT AND s
/\/ /\/ \/\/ /\|/\\ EDGE DISTANCE 5595 Orange Dr. 201
Davie, Fl. 33314
EXISTING %mm,%wm Tel.: (954) 585-0304
NOTE: MOUNT AVAILABLE FOR SILL, HEADER STRUCTURE Fax: (954) 585-0305
AND JAMBS INSTALLATIONS NOTE: MOUNT AVAILABLE FOR SILL, HEADER ENGCO@AOL.COM
AND JAMBS INSTALLATIONS
w-‘\\\\\\\\ \\\\_\\\
Wy DE U,
\l X =
MOUNT TYPE 5 ,... % 60:4.
§§ 9 .
SEE TABLE 2 TO SELECT Sy i =1
EXISTING PROPER EMBEDMENT AND MOUNT TYPE 5A A—Nm/\mmmmv MP ¢ No. .u* %
STRUCTURE N : ‘o Y
EDGE DISTANCE I xh of Rfm
\/\ v \/\ SEE TABLE 3 MOUNT TYPE S \/\ /| 1 o tEB eI
FOR ANCHOR SELECTION % e [ LOR- O
' AND SPACING BOLTS W/ o‘.\ogm%m\ o
WINGNUTS 2 T
et i&m%mo__t. S 1/4-14X3/4 SDS AT 7°0C AT 77 0C 2. spetdd
éﬁ__m S \% 1/4-20 PHMS W/ NUT
U . 3 I = WALL _ MAX S* [] REVISIONS:
o 38 DRESSING o 1- FBC 2010 UPDATE
d% \\xu_ 2
= 0 ”"_._,EE,
+ BOLTS W/ WINGNUTS =
il L SEE PANEL LAY-OUT i
7 ON SHEET 2 OF 8 .
MAX. 3* S ol Date: 01/14/2012
WALL =k
DRESSING L e

NOTE: MOUNT AVAILABLE FOR SILL, HEADER

AND JAMBS INSTALLATIONS

S —

itmzmmu.t

-

)T

Tl

/mxm. 2X4 OR 2X3 ANGLE

1/4-14X3/4 SDS AT 7°0C
OR 1/4-20 PHMS W/ NUT

12-005
SEE TABLE 3 MOUNT TYPE S
FOR ANCHOR SELECTION
/\/ \/ AND SPACING SHEET
4 of 8

Scale: NA
Design by: PPMF

Drawing Number




SEE TABLE 3

MOUNT TYPE 5E1

SEE TABLE 2 TH
SELECT PROPER
EMBEDMENT AND
EDGE DISTANCE

EXISTING
STRUCTURE MAX.
)\ = |
\ 2
=]
=
|E|
L}
(]
o
"
| ?@
3.188
WALL
DRESSING
MOUNT TYPE S

FOR ANCHOR SELECTION
AND SPACING

ESCAPE PANELS DETAILS

MOUNT TYPE 5E2

(2> 1/74-20 SIDE WALK BOLT
W/ WASHERED WIND NUT TwO
ACROSS CENTRAL RIB OF SHUTTER

(2> 1/74-20 SIDE WALK
BOLT W/ WASHERED WIND
NUT ONE AT TOP OF EACH
RIB OF SHUTTER

WALL
DRESSING

-

EDGE

DIST.

_m/@ PULL PINS LOCATED
IN CENTER BOTTOM

*
o
=
(a=)
R
* VOID OF RIB

fmmzmmuuv

2X3, 2X4 0OR 2X3 ANGLE

SEE TABLE 3 MOUNT TYPE S
FOR ANCHOR SELECTION
AND SPACING

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP CITY, OHIO 45371

Phone: (937) 877-1310
Website: www.clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

tnglo Inr.
CA 8116

5595 Orange Dr. 201

Davie, Fl. 33314

Tel.: (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

REVISIONS:
1- FBC 2010 UPDATE

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET
50f8




DETAIL 8
INSET CLOSURE
EXISTING
STRUCTURE
Ly - =
1 .g B //.zprr
DRESSING
174
MAX.
DETAIL 7
WALL CLOSURE /\/
i EXISTING
Nw _4. STRUCTURE =
<~ i K ‘
i
/Q Sty
DRESSING
/

/

DETAIL 11 Bt
CORNER ANGLE ML
1
1/4-20X374 BOLTS
WITH WING NUTS
AT 12* OC
e e
1 MAX. .094 POLYCARBONATE CORNER

PLATE OR 1/8" 6063-T6
ALUMINUM CORNER ANGLE

DETAIL 9
BUILT-OUT

SIDE CLOSURE

1/74*
MAX.

)

EXISTING
STRUCTURE N.

X

//[iprr
DRESSING

2N 125 ALUMINUM ANGLE
SIDE CLOSURE FOR
BUILT-OUT APPLICATION
1 1/4-20X3/4 BOLTS
WITH WING NUTS
AT 24* OC
DETAIL 10 /\/ /\/
INSET EXTENDED e v i i
CLOSURE STRUCTURE _L-
125 ALUMINUM ANGLE
SIDE CLOSURE FOR
z TRAP APPLICATION
1/ 4"
MAX.
[ —— ||_ :
A
///r
1
WALL
DRESSING

1/4-20X3/4 BOLTS
WITH WING NUTS
AT 12* 0OC

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP CITY, OHIO 45371
Phone: (937) 877-1310
Website: www.clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

tng@o Inr.
CA 8116

5595 Orange Dr. 201
Davie, Fl. 33314

Tel.: (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

.-'-' 'Sb"
Qp,s"
o

-,

LI
wtt b T
.
. .
. -
"ragesnt®

”‘I’llfll’-’
*
CER
l,,””'. ~.,al

6.
o

eBsIoflk

W,

\

REVISIONS:
1- FBC 2010 UPDATE

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET
6 of 8




TABLE 3 ANCHOR SPACING

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP CITY, OHIO 45371
Phone: (937) 877-1310

Website: www,clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

tng€o Inr.
CA 8116

5595 Orange Dr. 201

Davie, Fl. 33314

Tel.; (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

sespa
oo’ ey,

5 Pt -
0&: GE Ny e

N

Tl *
...
R

*
. FEBTANBQD. ; &
G FLORON R

e

-

“err 55, ik

|"'
W
\\

REVISIONS:
1- FBC 2010 UPDATE

45 PSF 62 PSF 87 PSF 132 PS
MOUNT TYPE |1 e 12 14 5 e I = 13 14 15 18 |1 T3 &« |5 16 11 7 13 12 15 16
A 7 i Vi D
Al 3 7 7
Ag 7 7 2 7
& | B v i - 7 17 17 17 |7 7 17 17 |6 17 7 16 |7 |4 |6
ol BT ¥ 47 3 F i Z--t7 J7 5 -7 7 15 |7 6 7 ] 4
&0 te bl 7 7. ld ettt 17 X7 7 |7 17 .17 17 T ir 17 1T 17 ] M
S | DI 7 b 1t F b7 &7 e b I T e e e e e 4 |6 4
S [ D2 2 7 17 17 17 17 T 17 {7 7 t7 T 17 17 t7 17 7 17 17 {7
£I1F 7 7 17 Fr bty 47 O R o S I 7 17 |7 17 V7 7 172 15 17
El 7 y Iy S L 5 |7 |4 |7 |7 4 |6 5 |7 4
C/E2 17 {7 17 7 7. 4r 47 17 17 172 tx 17 k7 k> 7 L7 A2 %7 17 k¥ 17 16 ia
3 7 17 7 7 |7 7 t7 17 {7 7 747 717 T L 47 6 7
- F1 7 17 17 17 |7 F—=t7 I 1% P} 7 17 |7 |& Y7 7 |6 |7 |4 [6
L A 7 7 .
T Al 2 7 7
-  [ee 7 7 7
- a [ B T I 17 &7 17 7 L7 17 16 dF 7 16 17 |4 17
~ >~ [ Bl 7 7 s ¥ 7 o 7 - 7 5 4 e
= |89 |2 1 5 et Gt i1 PANEL HEIGHT: 80"
L T DESIGNED PRESSURE: Pd= 87 PSF
5 o D2 Z Al v AN A i A A SRS & MBS A A YR e A MOUNT TYPE: 6 (SHEET 4 of 8)
= Z |E 7 ol e & e e T 4 A e A VY e 47 ANCHOR TYPE D - SEE TABLE 2
L El 7 517 % 1t 7 16 5 |7 4 ANCHOR SPACING: 7° OC
+ C/E2 7 17 17 7 7. 17f 7 t7 {7 17 +t7 'Fr %7 17 %7 }7. 17 1% EDGE_DISTANCE - 3 1/8°
1 F 7 7 % 7 7 7 7 7 £ 7 7 7 7 | 7 EMBEDMENT: 2
M Fl SRS DN 1 S b I 7 17 J& 16 |7 7 16 |7 |4 |7
<< A 7 ¥
a Al 7 7
L A2 7 7
a [ B y I I ¢ A 7 17 17 B
> [B1 15 14 15 —TaTe = TABLE 2 - ANCHOR SCHEDULE
D y R e e e | S T T L by
100 m D1 v 7 17 van- 7 47 B 7 : w TYPE DESCRIPTION STRUCTURE EMBED. mwmm
D2 7 I A & ) | 7z 17 .
M E 7 i 7 7 7 7 7 7 5 7 A 174" Panelmate Conc. (fc’=3350psi) e e 17e"
E1 7 4 7 £, 7 5 4 Al |1/4" Paonelmate ASTM C-90 CMU O A7 ol - o
C/EpD 7 7 7 7 7 = 7 7i = 7 7 5 A2 1/4” Ponelmate Wood (SG>=. 54) 1. 3447 3/4"
3 et — 17515 B2 [1/4-20 Lead shields Conc. (fc’=2500psi) 7/8" 3"
NG C__|1/4" Log Screws Wood (SG>=. 55 2" 3/4"
A 7 8 D S5/16" Ultracon Conc. (fc’'=3500psi) 2° 3 lag
Al 7 N Dl |5/16" Ultracon ASTM C-90 CMU | L R e -
A2 7 EXAMPLE: E 7 e e e e | L (R P
L : ; ¢ racon onc. c'= DS i & =
o | B CAB O R - PANEL HEIGHT: 100 _ E1 [1/4" Ultracon ASTM C-90 CMU 1 1/4" |2 1/2°
— | Bl e e S DESIGNED PRESSURE: Pd= 45 PSF E2 [1/4° Ultrocon Wood (SG>=. 55 o 3/4°
MOUNT TYPE: S (SHEET 4 of & _ .
D 7 A i S o F_|1/4" Ponelmate Insert |Conc. (fc' =2700ps i) 1 5/8° 4
120 |& [D1 7 6 7 |4 |7 GEl, SE2 OR SEJ(GREET & OF 82 F1 [1/4" P Tnsert |ASTM C-90 CMU 1747 | &
T ANCHOR TYPE F - SEE TABLE 2 anelhgte Ihser
o [ De 7 7 A - ANCHOR SPACING: 7° OC
Z|E 7 N A A EDGE DISTANCE - 3 NOTES:
El 7 5 5 EMBEDMENT: 1 1/4° 1. EMBEDMENT IS BEYOND WALL DRESSING.
ClEe 7 7 7 i i 6 2. ANCHORS TYPE A, PANELMATE BY ELCO, CAN BE USED WITH “PLUS, PRO,
F 7 7 17 |7 17 MALE® STILES. .
F1 17 196 17 3. ANCHORS TYPE E, 174 ULTRACON, ARE MADE BY ELCO.
4 1/4-20 LEAD SHIELDS ANCHORS ARE MADE BY ALL POINTS OR BY POWERS
FASTENERS ¢*CALK-IN").

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET
7 of 8




| E_1 ¢
0
® =
os}
0
— L g
l—2000—] | =
2- "F* ANGLE TRACK

ALUMINUM 6063-T6
0125

ALUMINUM 6063-T6

8»

4- BUILT-0OUT ANGLE

COMPONENTS DETAILS

e’ 3%, 47, 5°

MAX 3.373"
0.090

-

-

0.375

&~ 1Y, 2% 3
&5 BUSICTEUT
ALUMINUM 6063-T6

TRACK

4 C_1
S

0.650

f—0>2247—~
0.094)
(55 ]
WD
i
(oA
55 | ﬂ
2 o)
@
S5
0.067
=——2&.000
7- "H* HEADER TRACK

ALUMINUM 6063-T6

374
_LI
e
o)
~
0
|
=
0.090
S EA U RALK

ALUMINUM 6063-T6

S- 7/8" HOLE WASHER

MANUFACTURER:

CLEAR STRENGTH

USA, LLC

1414 COMMERCE PARK DR.
TIPP CITY, OHIO 45371
Phone: (937) 877-1310
Website: www.clearstrengthpanels.com
E-mail: clearstrengthpanels@gmail.com

Aaaagggaaﬁném <pm—

174

TYPE C ANCHORS

TAPCONS BY ELCO OR ITW BUILDEX

TYPE A ANCHORS

174" PANELMATE PRO 10

A- PANELMATE PLUS

TYPE B ANCHORS

@E@

174-20 MASONRY ANCHOR
CALKIN BY POWERS OR

LEAD

SHIELD BY ALL POINTS

TYPE F ANCHORS

H

1/4-20 PANELMATE INSERT BY ELCO

2.000
=)
b=t 0125 __|I.0.067
T e
™~
™
al
, JE I
*D.de T 2
7E- HOOK TRACK TEL= ¥ TRALK
ALUMINUM 6063-T6 ALUMINUM 6063-T6
0.090
W \D
™~
B
|-—2.000—~
H= RENERSE
“F* ANGLE TRACK
ALUMINUM 6063-T6
COMPONENTS SCHEDULE
PART DESCRIPTIDN MATERIAL
1 POLYCARBONATE PANEL POLYCARBONATE
= "F* ANGLE TRACK 6063-T6
5 REVERSE “F" ANGLE TRACK 6063-T6
4 1/8-2X BUILT-0UT ANGLE 6063-T6
5 "F* TRACK 6063-T6
6 “F _BUILT-0OUT” TRACK 6063-T6
i "h* HEADER TRACK 6063-T6
yis HOOK TRACK 6063-T6
7E1 Y TRACK 6063-T6
8 1/4-14X3/4 SDS GRADE S STEEL
9 7/8° WASHER STAINLESS STEEL
10 1/4-20 WASHERED WINGNUT ZINC ALLOY
1l 1/4-20 SS SIDEWALK SCREWS STAINLESS STEEL
12 1/74-20 SS HH MACHINE SCREWS [ STAINLESS STEEL
3 1/74-20 SS HH NUT STAINLESS STEEL
14 PULL PIN SS 174X 1 1/27 STAINLESS STEEL

WTLLLLLI 7P

PRODUCT:
Polycarbonate
Hurricane Shutter

Panel

LARGE & SMALL MISSILE
IMPACT RATED

Engineering:

tng€o Inur.
CA 8116

5595 Orange Dr. 201

Davie, FI. 33314

Tel.: (954) 585-0304

Fax: (954) 585-0305
ENGCO@AOL.COM

Y DE .,
._._.047“...:.. Ein=~
S BE %
P --- - 0 d-..s

i No. 52
* *x . ix
| o, SO 20N o §
S 0 ALORION &
- % -oomﬂou 4&
‘\.\\ \\u%- ..... 4——-
- | H.@ (o]
\:ﬁmﬁ i
REVISIONS:

1- FBC 2010 UPDATE

Date: 01/14/2012
Scale: NA
Design by: PPMF

Drawing Number

12-005

SHEET

8 of 8




